ﬁ
MO N{IIMYENTRY

V1-1 ARM SPIDER

V2 180 - 2 ARM SPIDER
V2 90 - 2 ARM SPIDER
V3 - 3 ARM SPIDER

V4 - 4 ARM SPIDER

V - SERIES



DORMA =

ENTRY

V- SERIES
I MOCK UP ELEVATION
X
EQL EQL EQL EQL
= i - - my L F
5 3 3 3 5
|| It Il Il ||
PRl It I Il ||
= It Il Il ||
|| It I Il || STEEL _STRUCTURE
| | | | | | | | | | SUBRIECT TQ STRUCTURAL CALCLULATION
|4 H %1 Hl 4
1}
174 a{|
|| It Il Il ||
4 || It I Il ||
ol |1 i I] Il | |
|| It I Il ||
|| It 1|l 4 Il 4 ||
> 4 X ) ¥ Eal 1P
|| It Il Il ||
|| It I Il ||
_
al |l it Il Il ||
Wl It I Il | | FACADE GLASS
|| It I Il ||
| L5 2 1 2 51|
| | 1P
OPENING JFENING
| It Il Il |
y || it Il Il ||
ol |l It Il Il ||
|| It I Il ||
| i I] Il |
1 I || N | | B A \
ELEVATION SECTION
NO FITTINGS DESCRIPTION PAGE NO:
1 | V4-4 ARM SPIDER 1
2 | V3-3ARM SPIDER 2
3 | V2180° -2 ARM SPIDER FACADE 3
4 [ V290°-2ARM SPIDER FACADE 4
5 | V1-1ARM SPIDER FACADE 5
6 | GLASS PREPARATION FORBOLTS 6




FACADE GLASS

V4 — 4 ARM SPIDER

1. STEEL PIPE
( ) STEEL PIPE 8.5 BUSH
V4 — 4 ARM SPIDER S.8 BUSH
T T
ARTICLE NO :0010702040101 | FACADE GLASS g =
PLAN SECTION
GLASS PREPARATION FOR FACADE GLASS
A =(200-X)/2
X FACADE GLASS
——H— B= (200 - X) /2
[l
1 A ! A 1
A | S GLASS HOLE:
m a
SNO BOLTS DESCRIPTION HOLE @
== x
. 1 |FLAT HEAD FIXED BOLT (FHB M12) 22mm
m : a
! 2 |FLAT HEAD ARTICULATED BOLT (FHAB M12) 32mm
A A 3 |COUNTER SUNK FIXED BOLT (CSB M12) ey
4 |COUNTER SUNK ARTICULATED BOLT (CSABM12) | “loo e

* FOR MORE DETAILS REFER GLASS PREPARATION FORBOLTS

PREPARED BY : M.P_ |CHECKEDBY :NB__ | REVISION : 00 DATE: 25-05-07

CONTROL COPY NO: DI/DES/VS/01

Page:1




ENTRY A1

DORMA
V- SERIES
f\o
FACADE GLASS
E V3 — 3 ARM SPIDER
| STEEL PIPE
ELEVATION t
( > STEEL PIPE 8.5 BUSH
V3 — 3 ARM SPIDER S< BUSH
T T
t Ca s
FACADE GLASS TN
ARTICLE NO :0010702030101
PLAN SECTION
GLASS PREPARATION FOR FACADE GLASS
A=(200-X)/2
X FACADE GLASS
[l
|
1 A ! A 1
| S GLASS HOLE:
m a
SNO BOLTS DESCRIPTION HOLE @
R it x
| 1 | FLAT HEAD FIXED BOLT (FHB M12) 22mm
| o
' 2 |FLAT HEAD ARTICULATED BOLT (FHAB M12) 32mm
B 30mm OUTSIDE & 20mm INSIDE
J 3 |COUNTERSUNK FIXED BOLT (CSB M12) (COUNTER SUNK HOLE)
4 |COUNTER SUNK ARTICULATED BOLT (CSABM12) | “loo e
* FOR MORE DETAILS REFER GLASS PREPARATION FOR BOLTS
PREPARED BY : M.P |CHECKED BY :NB REVISION : 00 DATE: 25-05-07 CONTROL COPY NO: DI/DES/VS/01 P&e 2




ENTRY DA

V- SERIES

Naiar 2 e

DORMA =

@)EOK(O) FACADE GLASS

ELEVATION V2 — 2 ARM SPIDER

| STEEL PIPE

S.S BUSH

< > STEEL PIPE
V2 — 2 ARM SFIDER SS BUSH

i - I

Cale
FACADE GLASS T
ARTICLE NO :0010702021101
PLAN SECTION
GLASS PREPARATION FOR FACADE GLASS
A=(200-X)/2
X FACADE GLASS
— -
GLASSHOLE:
A i A SNO BOLTS DESCRIPTION HOLE @
I 1
|
é (l) 1 |FLATHEAD FIXED BOLT (FHB M12) 22mm
2 |FLAT HEAD ARTICULATED BOLT (FHAB M12) 32mm
1 30mm OUTSIDE & 20mm INSIDE
! 3 |COUNTER SUNK FIXED BOLT (CSB M12) (COUNTER K HOLE)
[l
! 4 |COUNTER SUNK ARTICULATED BOLT (CSAB M12) |05 s s ieee

* FOR MORE DETAILS REFER GLASS PREPARATION FORBOLTS

PREPARED BY : M.P_ |CHECKEDBY :NB__ | REVISION : 00 DATE: 25-05-07 CONTROL COPY NO: DI/DES/VS/01 ge 3




eVl e ENTRY A1
DORMA
V- SERIES
/@ (I
@ FACADE GIASS
\@ V2 — 2ARM SPIDER
STEEL PIPE
ELEVATION |
i
STEEL PIPE S.5 BUSH
S< BUSH
[
Cal s
FACADE GLASS TN
ARTICLE NO :0010702020101
PLAN SECTION
GLASS PREPARATION FOR FACADE GLASS
FACADE GLASS
A =100
STEEL PIPE
B=(200-X)/2
‘ T
/ I A
[
RN GLASS HOLE:
[ ,/,}k~_{/
/7 /
’://7, d]
Sy SNO BOLTS DESCRIPTION HOLE @
s el =<
. \“.iﬁ\\ 1 | FLAT HEAD FIXED BOLT (FHB M12) 22mm
NN
NGNS =
NS 2 |FLAT HEAD ARTICULATED BOLT (FHAB M12) 32mm
N -
AN 30mm OUTSIDE & 20mm INSIDE
A E{' 3 |COUNTERSUNK FIXED BOLT (CSB M12) (COUNTER SUNK HOLE)
1
4 |COUNTER SUNK ARTICULATED BOLT (CSABM12) | “loo e
v * FOR MORE DETAILS REFER GLASS PREPARATION FOR BOLTS
PREPARED BY : M.P | CHECKED BY :NB REVISION : 00 DATE : 25- 05- 07 CONTROL COPY NO: DI/DES/VS/01

Page :4




ENTRY

V- SERIES

ARTICLE NO :0010702010101

GLASS PREPARATION FOR FACADE GLASS

FACADE GLASS

STEEL PIPE

-
r-\\

L

DORMA
_ e
—©
@— FACADE GLASS
ELEVATION V1 — 1ARM SPIDER
E}m | STEEL PIPE
/
/ S.S BUSH
STEEL PIPE
S< BUSH
}
CalaJ L]
FACADE GLASS TN
PLAN SECTION
A =100
GLASSHOLE:
SNO BOLTS DESCRIPTION HOLE @
1 | FLAT HEAD FIXED BOLT (FHB M12) 22mm
2 |FLAT HEAD ARTICULATED BOLT (FHAB M12) 32mm
30mm OUTSIDE & 20mm INSIDE
3 |COUNTERSUNK FIXED BOLT (CSB M12) (COUNTER SUNK HOLE)
4 |COUNTER SUNK ARTICULATED BOLT (CSABM12) | “loo e

* FOR MORE DETAILS REFER GLASS PREPARATION FORBOLTS

PREPARED BY : M.P.

CHECKEDBY :NB

REVISION : 00

DATE:25-05-07

CONTROL COPY NO: DI/DES/VS/01

Page :5




DORMA =

ENTRY

PFF SERIES

REPARATION FOR BOLTS

BOLTS

SECTION

TEMPERED GLASS

LAMINATED GLASS

FLAT HEAD FIXED BOLT - FHB M12
GLASSTHICKNESS- 12mm - 15mm

22

FHBM12 - FINISH ARTICLENO:
POLISHED FINISH 0010707010101
SATINFINISH 0010707010102

FLAT HEAD ARTICULATED BOLT - FHAB M12
GLASS THICKNESS - 12mm - 15mm

32

32

FHAB M12 - FINISH ARTICLENO:
POLISHED FINISH 0010707020101
SATINFINISH 0010707020102

|36

COUNTERSUNK FIXED BOLT - CSB M12
GLASSTHICKNESS - 12mm - 15mm

CSB M12 - FINISH ARTICLENO:
POLISHED FINISH 0010706010101
SATINFINISH 0010706010102

20|

COUNTERSUNK ARTICULATEDBOLT-CSABM12
GLASSTHICKNESS - 12mm - 15mm

CSAB M12 - FINISH ARTICLENO:
POLISHED FINISH 0010706020101
SATINFINISH 0010706020102

PREPARED BY : M.P_ |CHECKEDBY :NB__ | REVISION : 00

DATE: 25-05-07

CONTROL COPY NO: DI/DES/VS/01

Page :6




DORMA
DORMA India Private Limited - Chennai
DES ORDER FORM
CBP Name: CBP Order No:
Location: Date:
Project Name : DI Quotation No:
Location: Date:
Facade Glass Thick Ness (mm): Fin Glass Thick Ness (mm):
Insert Anchor Bolts Normal Bolts
Finish:
Fagade- Ceiling
S1 No Description Article Number BOM UOM Order Qty
1 I B1 Brackets - Mild Steel Ni Plated - Double Side 0010741100105 1 SET
1.1.2 B1 Brackets - Mild Steel Ni Plated - Single Side 0010741200105 1 SET
1.2:1 B1 Brackets - Satin Stainless steel - Double Side 0010741100102 1 SET
1.2.2 B1 Brackets - Satin Stainless Steel - Single Side 0010741200102 1 SET
1.3:1 B1 Brackets - Red oxide - Double Side 0010741100109 1 SET
1:3.2 B1 Brackets - Red Oxide - Single Side 0010741200109 1 SET
5.2.1 PFF GT Fagade ceiling Connector - 12 mm - Left 0010712210101 1 SET
252 PFF GT Facade ceiling Connector - 12 mm - Right 0010712310101 1 SET
5.3:1 PFF GT Facade ceiling Connector - 15 mm - Left 0010712220101 1 SET
5.3.2 PFF GT Fagade ceiling Connector - 15 mm - Right 0010712320101 1 SET
Fin Ceiling
2.1.1 B2 Brackets - Mild Steel Ni Plated - Double Side 0010742100105 1 SET
2.1 B2 Brackets - Satin Stainless steel - Double Side 0010742100102 1 SET
2531 B2 Brackets - Red oxide - Double Side 0010742100109 1 SET
3.1.1 B3 Brackets - Mild Steel Ni Plated - Double Side 0010743100105 1 SET
3.2.1 B3 Brackets - Satin Stainless steel - Double Side 0010743100102 1 SET
3.3.1 B3 Brackets - Red oxide - Double Side 0010743100109 1 SET
4.1.1 B4 Brackets - Mild Steel Ni Plated - Double Side 0010744100105 1 SET
4.2.1 B4 Brackets - Satin Stainless steel - Double Side 0010744100102 1 SET
4.3.1 B4 Brackets - Red oxide - Double Side 0010744100109 1 SET
5.1.1 PFF GT Fin ceiling connector - 12 mm 0010712100101 1 SET
5.1.2 PFF GT Fin ceiling connector - 15 mm 0010712110101 1 SET
513 PFF GT Fin ceiling connector - 19 mm 0010712120101 1 SET
5.1.4 PFF GT Fin ceiling connector - 21 mm 0010712130101 1 SET
Wall - Facade Connections
5.2.5 PFF G1 Wall to Glass Bracket 0010712600101 1 SET
5.2.6 PFF G2 2 Point Wall to Glass 0010712700101 1 SET
Fagade - Facade Connection
6.1 PFF G1 - 2 point 0010701020101 1 No
12MM 15MM 19MM 21MM Mention fin glassthickness
A PFF G2 - 4 point 0010701040101 1 No
12MM 15MM 19MM 21MM Mention fin glassthickness
8.1 PFF 400 Splice plate 0010701050101 1 SET
12MM 15MM 19MM 21MM Mention fin glassthickness
8.2.1 PFF 400 G2 - 4 point 0010701060101 1 SET
12MM 15MM 19MM 21MM Mention fin glassthickness
9 V1 - Single Point 0010702010101 1 Nos
10 V2 - 2 point 90 deg 0010702020101 1 Nos
11 V2 - 2 point 180 deg 0010702021101 1 Nos
12 V3 - 3 point 0010702030101 1 Nos
13 V4 - 4 point 0010702040101 1 Nos
13.1 Bush for V fittings 0010702910101 1 Nos
Bolts
14.1 CSB M12 - Polished finish 0010706010101 1 Nos
14.2 CSB M12 - Satin Finish 0010706010102 1 Nos
15.1 CSAB M12 - Polished 0010706020101 1 Nos
CSAB M12 - Satin Finish 0010706020102 1 Nos
16.1 CSB2 M12 - Polished 0010706030101 1 Nos
16.2 CSB2 M12 - Satin Finish 0010706030102 1 Nos
17.1 FHB M12 - Polished 0010707010101 1 Nos
17.2 FHB M12 - Satin Finish 0010707010102 1 Nos
18.1 FHB2 M12 - Polished 0010707030101 1 Nos
18.2 FHB2 M12 - Satin Finish 0010707030102 1 Nos
19.1 FHAB M12 - Polished 0010707020101 1 Nos
19.2 FHAB M12 - Satin Finish 0010707020102 1 Nos

DI OA No:



Postal address:
DORMA-Glas GmbH
Fostfach 3768
32076 Bad Salzuflen
Germany

Lacation
Max-Planck-Stralie 37 - 45
32107 Bad Salzuflen
ermany

Tel. ++49(0)5222/924-0
Fax ++49{0)5222/924-146

v, donma-glas, com






